[image: image2.png]




2
RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


K46
Kawasaki Z650 2017-
	Left side kit:
	Right side kit:

	
	
	
	
	
	
	
	
	
	

	ID
	Description
	Cat.no.
	Pcs
	
	ID
	Description
	Cat.no.
	Pcs
	

	1
	Steel insert M10
	X1
	1
	
	1
	Steel insert M10
	X1
	1
	

	2
	Bolt  M10 x200mm
	889
	1
	
	2
	Bolt  M10 x170mm
	935
	1
	

	3
	Dural. cylinder - 70mm
	7
	1
	
	3
	Dural. cylinder – 20mm
	144
	1
	

	4
	Safety nut M10
	810
	1
	
	4
	Safety nut M10
	810
	1
	

	
	
	
	
	
	
	
	
	


Instrutions:
1.) Unscrew original bolt from frame according to the picture.

Note: 20mm cylinder is on the right side.

2.) Prepare bolt M10 and put steel insert, protector and cylinder on it.

3.) Mount this kit into the frame.
We recommend to use the glue on all threads.
[image: image3.png]



[image: image1.png]



1

